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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 567 8.1 2.9 12 67.3 100
2 566 3.3 2.1 7 47.1 99.8
3 544 5.8 2.6 9 64.5 95.9

4(a) 558 7.4 2.8 10 74.3 98.4
4(b)(c) 563 3.6 1.9 7 50.9 99.3

5 529 2.3 2.3 7 32.9 93.3
6 565 1.5 1.5 5 30.7 99.7
7 553 1.6 1.3 4 41.1 97.5
8 537 0.3 0.7 4 7.3 94.7
9 536 2.9 2.3 7 41.8 94.5

10 536 1.3 1.9 8 16 94.5

67.3 
47.1 

64.5 
74.3 

50.9 
32.9 

30.7 
41.1 

7.3 
41.8 

16 

0 10 20 30 40 50 60 70 80 90 100

1
2
3

4(a)
4(b)(c)

5
6
7
8
9

10

Facility Factor % 

Q
ue

st
io

n 

GCSE Applications of Mathematics Unit 1 Foundation 4361-01 

Line

Line

Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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	 (d)	 The average times to cycle between these places are given in the table below.

© WJEC CBAC Ltd.

Church Castle Skating park

Church 1·5 hours 20 minutes

Castle 1·5 hours     hour

Skating park 20 minutes     hour

		  Use the times given above to answer the following.

	 (i)	 How long does it take to cycle from the castle to the skating park?
		  Give your answer in minutes.	 [1]

	

	

	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . minutes	

	 (ii)	 How long, in total, will it take to cycle
	 •	 from the castle to the skating park
	 •	 then from the skating park to the church
	 •	 and finally from the church back to the castle?	 [3]

	

	

	

	

	

3
4

3
4





Sticky Note
This candidate knew which times to add but made a common error of changing 1.5 hours into 1 hour 50 minutes and hence 110 minutes. The candidate has also used 105 minutes for 3/4 hour. This answer was given in the previous part. The candidate thought that 3/4 hour meant 1 hour 45 minutes.

Sticky Note
Candidates were asked to find the total time it would take to cycle the given route. Several errors were made changing all the times either into minutes or into hours before adding to find the total time.
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2.	
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	 Christopher is tiling his kitchen walls.

	 (a)	 He needs 25 boxes of tiles.
		  The price of one box is £27.60.
		  The tile shop has a special offer of

Buy one box and get another box half price

		  Christopher makes use of this special offer.
		  How much does Christopher pay for the 25 boxes of tiles?	 [5]
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	 (b)	 The boxes that contain the tiles are cuboids.

Circle the possible nets that could be used to form the boxes for the tiles.	 [2]

© WJEC CBAC Ltd.

A

B

C

D





Sticky Note
This candidate has engaged with buy one box and get one box half price but has used 12.5 boxes at £27.60 and 12.5 boxes at £13.80. An answer of £517.50 was commonly seen. 

Sticky Note
Many candidates did not engage with but one box of tiles and get another box half price. They interpreted this as buy one box of tiles and get one box free. Of those that did engage with the correct idea, many assumed that out of the 25 boxes needed, 12.5 boxes would be full price and 12.5 boxes half price.






Sticky Note
Many candidates did not engage with but one box of tiles and get another box half price. They interpreted this as buy one box of tiles and get one box free. Of those that did engage with the correct idea, many assumed that out of the 25 boxes needed, 12.5 boxes would be full price and 12.5 boxes half price.

Sticky Note
This candidate has engaged with buying one box and getting another box half price. The correct answer for 12 boxes at half price has been given, however, the candidate has used 12 boxes at full price rather than 13 boxes.





Sticky Note
This candidate thought that there were only 2 correct nets that could be used to make a cuboid rather than 3. This was a very common error.
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4. (a)	 You will be assessed on the quality of your written communication in this part of the

question.

		 A committee organised an end of Year 11 party in a local hotel.

The costs for the party were:
• A room hired for 5 hours at a cost of £24 per hour.
• A band hired at a cost of £165 for the evening.
• Balloons and decorations for the room at a cost of £356.
• A meal at a cost of £27 per person.

		 The tickets for the party were sold at £35 each.
154 tickets were sold.

After the committee had paid all of the costs for the party, the money left over was given 
to a charity.
How much money was given to the charity?
Show all your working.	 [10]

© WJEC CBAC Ltd.





Sticky Note
This candidate has not calculated the cost of the meals. In fact they have not considered this cost at all. The candidate has however, calculated the money collected from the sale of the tickets and subtracted their costs from this to find out how much money was given to charity.

Sticky Note
Candidates generally understood what steps were needed to be taken to calculate how much money was to be given to charity. Errors were usually made when calculating costs for the party, particularly in calculating the cost of the meals.





Sticky Note
This candidate has worked out each of the individual costs correctly but has not correctly evaluated the overall total cost. The candidate has found the total money collected from the sale of the tickets but has assumed that this is the amount given to charity.

Sticky Note
Candidates generally understood what steps were needed to be taken to calculate how much money was to be given to charity. Errors were usually made when calculating costs for the party, particularly in calculating the cost of the meals.
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5. A new logo for a sports club has been designed to go onto their kit.
The design consists of two squares joined to an equilateral triangle as shown below.

x

Diagram not drawn to scale

	 (a)	 Each square has sides of length 27 mm.
Find the perimeter of the logo, giving your answer in cm. [4]

	 (b)	 Find the size of angle x. [3]





Sticky Note
This candidate has fully understood the question, however, they have used the incorrect units in their answer and did not change to cm correctly.

Sticky Note
This question required candidates to understand that all sides of the 2 squares and the sides of the equilateral triangle are equal in length. Most candidates understood this but did not calculate the perimeter of the shape correctly. Many candidates added either 9 or 11 lengths of 27mm. It is evident that candidates struggle with changing units.





Sticky Note
To find the perimeter, the candidate has added 11 sides of length 27mm. They have accurately changed their answer into cm.

Sticky Note
This question required candidates to understand that all sides of the 2 squares and the sides of the equilateral triangle are equal in length. Most candidates understood this but did not calculate the perimeter of the shape correctly. Many candidates added either 9 or 11 lengths of 27mm. It is evident that candidates struggle with changing units.
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1.


 


(d) (i) 45 (minutes) 


(ii)  ¾ (hours) + 20 (mins) + 1.5 (hours) 


Changing all to hours OR all to mins correctly 


155 mins or 2 hrs 35 mins or 2.58(3....)hours ISW 


B1 


M1 


B1 


A1 


12 


For adding the 3 times given. FT ‘their 45 minutes’ 


Either 45 + 20 + 90 OR ¾ + 1/3 + 1.5 or equivalent


Do not accept 0.3 for 1/3 for A1 but allow for B1 


If units used they must be correct. Do not accept 


2.35 but allow 2:35 








© WJEC CBAC Ltd. 


1 


UNIT 1 (FOUNDATION TIER) 


Applications Unit 1 
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Mark Comment 


2. (a) Working towards 13 & 12 boxes or Engaging


with buy 1 get 1 half price 


13  (£)27.6(0) or 12  (£)13.8(0) 


(£)358.8(0) 


 (£)165.6(0) 


(£)524.4(0) 


(b) A, B & D circled 


S1 


M1 


A1 


A1 


A1 


B2 


7 


FT ‘their (£)358.8(0)’ + ‘their (£)165.6(0)’ 


If M0 awarded allow SC1 for sight of (£)13.8(0). 


Possible S1 can still be awarded. 


Alternative method: 


Cost of 2 boxes = 1.5  £27.60 B1 


 cost of 24 boxes 


= 12  1.5  £27.60 = 496.80 M1A1 


Total cost including 25th Box 


= 27.60 + 524.40 M1 A1 


Award B1 for any 2 correct nets circled and C not 


circled 
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4. (a) (cost of room) (5  24 = ) (£)120


(total cost of meals) 27  154 


     (£)4158 


(total money spent) 120 + 4158 + 356 + 165 


     (£)4799 


(total money collected from tickets) 154  35 


     (£)5390 


(Money given to charity) (£)591 


Look for 


 Spelling


 Clarity of text explanation


 the use of notation, watch for the use of  ‘=’,


‘£’ being appropriate


For QWC2 labels, appropriate use of ‘=’ and units (£) 


must be evident.  


QWC2: Candidates will be expected to 


 present work clearly, with words explaining


process or steps


AND 


 make few if any mistakes in mathematical


form, spelling, punctuation and grammar in


their answer


QWC1: Candidates will be expected to 


 present work clearly, with words explaining


process or steps


OR 


 make few if any mistakes in mathematical


form, spelling, punctuation and grammar in


their answer


B1 


M1 


A1 


M1 


A1 


M1 


A1 


B1 


QWC 


2 


10 


FT ‘their 120’ and ‘their 4158’ but not 24 and 27. 


FT ‘their correct total collected’ – ‘their total 


money spent’ 


Unsupported correct answer implies all previous 


marks. 


Alternative method 


(cost of room) (5  24 = ) (£)120                        B1 


(Difference in meal and ticket price) 35 – 27     M1 


 = (£)8  A1 


(Total money from this difference) 8  154  M1 


 = (£)1232  A1 


(total money spent) 120 + 356 + 165  M1 


     (£)641      A1 


(Money given to charity) (£)591  B1 


QWC2 Presents relevant material in a coherent and 


logical manner, using acceptable mathematical 


form, and with few if any errors in spelling, 


punctuation and grammar. 


QWC1 Presents relevant material in a coherent and 


logical manner but with some errors in use of 


mathematical form, spelling, punctuation or 


grammar  


OR 


evident weaknesses in organisation of material but 


using acceptable mathematical form, with few if 


any errors in spelling, punctuation and grammar. 


QWC0 Evident weaknesses in organisation of 


material, and errors in use of mathematical form, 


spelling, punctuation or grammar. 
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5. (a) Strategy knowing that all sides are equal in


length 


27  7 


189 (mm) 


18.9 (cm) 


(b) Sight of 60(˚) 


360 – 90 – 90 – 60 


      120(˚) 


S1 


M1 


A1 


B1 


B1 


M1 


A1 


7 


May see 27 or 2.7 on all sides. Sight of 27 × 9 


(=243) implies S1 


Or equivalent 


FT ‘their 189(mm)’ 


Alternative method for changing to cm 1st 


 Award S1 as above 


Sight of 2.7 (cm)   B1 


2.7  7  M1 


18.9 (cm)   A1 
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